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ﬁ Instruction J

On the OMR Answer Sheet write the Registration No. and write & darken the circle/bubble of Roll No./Co_urse/
Question Booklet Set. No entry / wrong entry of the above will lead to cancellation of papers for which the candidate will be
solely responsible.
Each question has four alternative answers. The candidate has to darken only one circle/bubble on the Answer-Sheet
using black/blue ballpoint pen indicating the correct answer as shown below. If more than one answer / option is found
darkened, then the answer will be treated as cancelled.
OMR Answer-Sheets will be preserved for a period of six months only from the date of result publication.
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Answer all the questions from the following

Which of the following is not a natural disaster?

(A) Flood (B) Nuclear disaster (C) Drought

GO T (I 2o Rerda 7 9

(A) I (B) #Afmafi® ﬁmq (C) <&t

Blue whales are species.

(A) Endangered (B) Vulnerable (C) Rare

e fofsl @l ISy 2l

(A) Rerm (B) F&0I7id (©) ﬁa—a—f

The heavy me_gg!‘ which is responsible'fo'r water pollution is

(A) Iodine (B) Potassium (C) Sodium

s o 41y S e PR

(A) ST (B) ot (C) ifSaw

1

1x20=20

(D) Forest fire

(D) wi_i=et

(D) Extinct

(D) =

(D) Mercury

(D) #irm
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The meaning of cutrophication 1 e
: nutrient conc i
(A) increase in nutricnt concentration of water (B) decrease In entration of water

(C) accumulation of toxic chemicals in water (D) accumulation of heavy metals in water

BTRIRFEIA IeCe @I
(A) &= #if2 omieda {& (B) Tt <|fE ~Amicds 2
(C) w1 Reies qFIRe SiRidd Siere (D) & I g SIS

Population related study is known as

(A) Demography (B) Biography ©) Psychobiology (D) Calography

TR RFE FHIACE 0

(A) corigiie (B) I (C) ATFRC@ G . (D) et
Kyoto Protocol was signed in the year

(A) 1990 (B) 1992 (C) 1997 (D) 1999
TN C2ACBIFeT (I AT FES 7 2

(A) 1990 (B) 1992 (C) 1997 (D) 1999
Which gas is responsible for the formation of stratospheric ozone hole?

(A) CFC (B) CO (C) PAN (D) CO;
GG Sre B REd I FIRd 2

(A) CFC (B)CO (C) PAN (D) CO;
Which of the following is responsible for Itai-Itai disease?

(A) Cd (B)Hg (C)Pb (D) As
ZO12-ROIR (@S I 2

(A) Cd (B) Hg (C) Pb (D) As
Kaziranga National Park is situated in

(A) Madhya Pradesh (B) Rajasthan (C) Assam (D) Uttar Pradesh
e T 2 @I A R[S 9

(A) Tgeie (B) A« (C) =S (D) Teq 2t

Photochemical smog is a type of
(A) Soil Pollution  (B) Water Pollution (C) Air Pollution (D) Radioactive Pollution

I AR i 2o aseidig
(A) Ff& et (B) Tz (C) A (D) (e=f&q 3
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11. Which of the following is in general not considered as pollutant?
(A) SO, (B) CO (C) Hydrocarbon (D) CO;
frafeie M MuRe S| @7 w7 9
(A) SO, (B) CO (C) Hydrocarbon (D) CO;
12. Presently the average temperature of Earth Surface is
(A)15°C (B)40°C (©)10°C (D)5°C
5{iRF IO IS SieiNial 2=
(A)15°C (B)40°C ©y10°C (D)s5°C
13. Ozone hole is observed over
(A) Europe (B) Africa (C) India (D) Antarctica
eI fom @I (T 9
(A) TSI (B) SifEl (C) ©® (D) SIBIoHI
14. Global warming can be controlled by
(A) Producing the use of fossil fuel (B) Reducing the use of natural energy
(C) Increasing the use of biomass energy (D) None of these
e Teerge fRmEd 91 (e A
(A) CRPY AR IR FHEI (B) digfos xIfea a1 IR
(C) tered *Ife g e (D) wefem @ iabg 78
15. The most important cause of biodiversity loss is

(B) Introduction of invasive species

(A) Deforestation
(D) Hunting

(C) Habitat destruction

Srafbay 2o 3 FRdl 24

(A) SR R (B) afZa1e1s eferifes et (C) PR & (D) iz

16. SPM in air is measured by
(B) Hygrometer

(A) High volume sampler
(D) Anemometer

(C) Barometer
IS SPM i#ite IR F41 A
(A) 22 SferEw =

(C) IO

(B) QG
(D) SHifATifioE
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17.

18.

19.

20.

The allowed thickness of plastic carry bags in the shops is at present

(A) 10 microns (B) 20 microns

(C) 30 microns (D) 50 microns

IS IR 263 FRer Rierare wrg ==

(A) 10 NZF= (B) 20 SizF™

Cyclones usually originates

(A) Over land surface

(C) Over desert

RSN AR Seoife z

(A) T Tl (B) TR BAAfem

The compound responsible for ‘acid rain’ is
(A) Carbon Dioxide (B) Nitrogen Oxide
i 3fEa G Wl ol TE

(A) I TR-SHZT  (B) AR THE

The most harmful of ultraviolet radiations is

(A) UV-C (B) UV-B
S o afereA [iFad ¥
(A) UV-C (B) UV-B

(C) 30 TRF (D) 50 TZF

(B) Over seé surface
(D) At the bottom of the sea

(C) TFefi| B (D) s et
(C) Calcium Oxide (D) Zinc Oxide
(C) it wHEs (D) o wI=ike

(C) UV-A (D) All of these

(C) UV-A (D) Od IS
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